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Market portion of risk can be represented through which of the following?

Standard deviation

®
Beta coefficient \/ “
Correlation coefficient i
Variance i
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| In Perfect Markets, the rational investors have diversified away which of the following?
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| In Perfect Markets, the rational investors have diversified away which of the following?

Company Specific Risk al




| In a market where the SML (Security Market Line) has low slope, most of the investors C
are: =
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| In a market where the SML (Security Market Line) has low slope, most of the investors i

are: @l

Risk lover i
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What should be used to calculate the proportional amount of equity financing employed
by afirm?
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The book value of the firm =

The current market price per share of common stock times the number of shares

outstanding [
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What should be used to calculate the proportional amount of equity financing emploved i
by afirm? @

The book value of the firm i

The current market price per share of common stock times the number of shares

outstanding \/ [




Which of the following is an example of floatation cost?
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Drawings by owners lil
@
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Commission on purchase é
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Interest on capital é




Which of the following is an example of floatation cost?

Drawings by owners
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| In the WACC equation (rpxp + rexe + roxp). Xp represents which of the following?
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Weight or Fraction of Total Capital value raised from bonds
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| In the WACC equation (rpxp + rexe + roxp), Xp represents which of the following?
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The date on which the names of stockholders in the Stock Transfer Register of firm are =
documented is referred as: E
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Holder-of-record Date
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The date on which the names of stockholders in the Stock Transfer Register of firm are
documented is referred as:

SRS

Declaration Date i

Holder-of -record Date i
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Mr. X is going to purchase the stock of ABC Company. Mr. X should purchase the stock =
on which date so that he can be entitled to receive the dividend. keeping in mind the H
ex-dividend date is December 77
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Mr. X is going to purchase the stock of ABC Company. Mr. X should purchase the stock i
on which date so that he can be entitled to receive the dividend. keeping in mind the @l
ex-dividend date is December 77

December 6 i
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Company ABC offers its stockholders 10 % stock dividends and Mr. S is one of its

stockholders being the owner of 250 stocks. How many shares Mr. S has after availing =
the stock dividend?
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Company ABC offers its stockholders 10 % stock dividends and Mr_ S is one of its i
stockholders being the owner of 250 stocks. How many shares Mr. S has after availing E"
the stock dividend?
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All of the following can be the possible benefits of maintaining the large amount in
current assets EXCEPT:
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All of the following can be the possible benefits of maintaining the large amount in i
current assets EXCEPT: @I

Less risk of shortages & intermuptions




Which of the following best matches this statement: “A policy under which relatively ;
large amount of cash. marketable securities. and inventories are carried and under which =
sales are stimulated by a liberal credit policy, resulting in a high level of receivable™?
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Fat cat working capital policy é
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Lean & Mean working capital policy é
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Moderate working capital policy é
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None of the given options [il
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Which of the following best matches this statement: “A policy under which relatively i
large amount of cash, marketable securities, and inventories are carried and under which @l
sales are stimulated by a liberal credit policy, resulting in a high level of recervable™?

Fat cat working capital policy li"
@

Lean & Mean working capital policy li"
@

Moderate working capital policy li"
@

Mone of the given options i

L
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Which of the following depicts the break even point in best way?
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Which of the following depicts the break even point in best way?

EBIT=0

EBIT <0
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Which of the followings is an example of hedging (maturity matching) approach to
financing working capital?
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Which of the followings is an example of hedging (matunity matching) approach to
financing working capital? @l

Financing short-term needs with short-term funds
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If selling price per unit falls and all other factors remain constant, the operating
break-even points (units) will @
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If selling price per unit falls and all other factors remain constant, the operating
break-even points (units) will ) EI
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Which of the followings are the explicit costs associated with corporate default, such as
fees paid to the lawyers and accountants?
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Which of the followings are the explicit costs associated with corporate default, such as
fees paid to the lawvers and accountants? Ell

Flotation costs




| From which of the following, negative net worth of the company is expressed? |:
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| Experiencing a project failure é
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Competitor s insolvency lil
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Experiencing technical insolvency é'
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Experiencing accounting insolvency
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| From which of the following, negative net worth of the company is expressed?

Experiencing a project failure
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Which of the following mathematical expressions refers to synergy?

2+1=3 -




When market value of another similar firm is less than the cost of replacing the assets of =
yvour own firm_ it is better to buy another firm_ It is known as: =
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When market value of another similar firm is less than the cost of replacing the assets of i
vour own firm, it is better to buy another firm_ It is known as: @l

Cherry picking
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l Calculate the Forward Rate for Rupee if the interest on 1 Year Maturity in Pakistan is
10% and in Australia is 6% and the current spot rate is Rs. 76/ AUD.
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| Calculate the Forward Rate for Rupee if the interest on 1 Year Maturity in Pakistan is i
10% and in Australia is 6% and the current spot rate is Rs.76/ AUD. @l

Rs. 6 per AUD i
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What is bid rate for currency?
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What is bid rate for currency? i

Buving rate for currency
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You have 25 Indian Rupees and vou want to exchange these Indian Rupees with Pakistan %
Rupees. You go to a money changer and he tells vou the selling rate of 1 Indian Rupee is EI
1.8041 PKR. The rate 1.8041 PKR is referred as:
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You have 25 Indian Rupees and vou want to exchange these Indian Rupees with Pakistan i
Rupees. You go to a money changer and he tells vou the selling rate of 1 Indian Rupee is EI
1.8041 PKE. The rate 1. 8041 PKR is referred as:

Bid rate m

Forward rate i
[
Future rate i




| Which one of the following concepts and techniques is NOT emploved while analyzing o
investment decisions? =
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| Which one of the following concepts and techniques is NOT emploved while analvzing i
investment decisions? @l

Net Present Value i




Which of the given feature is an optional retirement provision that permits the issuing =
company to call back a debt issue before its maturity date at a particular date? =

VUAnswers.com

Call i .
in 3
)
Call option o
@
Call provision -
B E
)
Put option =
o E




Which of the given feature is an optional retirement provision that permits the issuing
company to call back a debt issue before its maturnity date at a particular date?

~1m
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An investor will not invest in a particular stock if:
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An investor will not invest in a particular stock if: i

Stock's Required Return is lower than its Expected Return i

3
Stock's Required Return is higher than its Expected Return j"
Stock's Required Return is equal to its Expected Return i
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What will be rational decision of an investor if his required rate of return for a stock is
lower than the estimated return?

@
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What will be rational decision of an investor if his required rate of return for a stock is i
lower than the estimated return? @l

It 1s time to sell stock
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Keeping into view SML equation, which of the given statement is CORRECT if stock p
=1
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Keeping into view SML equation, which of the given statement 1s CORRECT if stock i

=1 =]
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Under Net income approach. which of the following is a correct sequence of calculating
cost of capital?
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Market value of firm — WACC — Net income é




Under Net income approach, which of the following is a correct sequence of calculating
cost of capital?

Net income — Total firm s market value — WACC
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With current assets of Rs. 16.000; current liabilities of Rs. 10.000; and Inventorv of Rs.
2500, current ratio would be:
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With current assets of Es. 16.000; current liabilities of Rs. 10,000; and Inventory of Rs.
2500, current ratio would be:

135




| Corporation C has invested a large amount in its fixed assets. Which of the following
statements is likely to be true for this firm?
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| Corporation C has invested a large amount in its fixed assets. Which of the following i
statements is likely to be true for this firm? @l

High profitability but low risk |j||
High profitability but high risk |j||

L
Low profitability but low risk |j||
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All of the following are the components of CML (capital market line) equation EXCEPT: =
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All of the following are the components of CML (capital market line) equation EXCEPT:

:

Rislk free rate of return
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Required ROR (rate of return) is different for every individual. but it is based on which
of the following?

VuAnswers.com |




Required ROE. (rate of return) is different for every individual, but it is based on which i
of the following? =]

Perceived Risk relative to Market i




What will be the effective interest rate if a bank offers 7% annual interest rate on fix =
deposit account semiannually?
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What will be the effective interest rate if a banlc offers 7% annual interest rate on fix i
deposit account semiannually? El

7.12% o
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The decision of the required debt and equity ratio is made by which of the following?
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The decision of the required debt and equity ratio is made by which of the following? i

Board of directors ml |
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Which of the following is Not an example of bankruptcy cost?
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Which of the following is Not an example of bankruptcy cost?

Loss on sale of assets
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Total risk increases faster than the leverage
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What happens to the total risk when leverage increases with higher rate? i

Total risk increases faster than the leverage
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